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e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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AT 3397 :

(i) SOFT-TFEGTEEE: 3, &, & gaq T/

(i) @IS A H13HFHTIA Y1 88 TF & | 5771 3T Uk Jeg 37941 b 1T X 31 /
(iii) @US F 43 37 act 979 G 13 % 3 | [9779h7 I 50 — 75 Vgl 4 &1 |

(iv) @US TG4 3% T Jo714 @19 7% & | 5757 3T 797 120 vieg) 4 &1 |

(v) TUEGH5 3% Jrd F9720 & 22 7% & | a1 IR 197 150 91551 4 &1 /

(vi) U T T 6 37 Tt Fo723 @25 T & | 57T I YT 200 5G] G § [

(vii) Y¥7-97 7 HI3 GHI-TT7-1dHcT 397E 7871 &, adlT T 3% Jict 3 Fo1 4, i
3% It 2 F¥1 H, TR 3% it 2 F991 H, i 37 qict 1 §97 F a9 ¥ 3HE
FI7 1 597 7 faoheq 39cieer & | 08 Jo71 § 3719 BT U fdHeq F & I

g8 |

General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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SECTION A

1. ‘gu=a¥ =1 39 dNu | 1

Give the meaning of Co-ordination.

2. TSI g WHEN § | 98 Th ARBLE @ @l i ghH H T8 3R 9 6
B WREN @l 1 w4 61 | Ak @ % S99 3 a1 9ol 6 390 F9
Aigrer gt off | 9 @ foFHe @ 3 9 8 3 Uohd W A9d 9 9d1 9o ok
3Icqre | wiger gl off | 39 Iude 1fYeRR o1 9 wdsu e stearid
NIRRT TR AT, 1986 % YEUMI o AR AT GG 1 T B
TRt 7 | 1

Archana is a pure vegetarian. She went to a popular food chain shop and
asked for a packaged ‘Veg-Biryani’. While eating the same she noticed

that it had some non-vegetarian content. Neither the advertisement, nor
the label on the package showed that the product had non-vegetarian
content. Name the consumer right under which Archana can claim for
compensation as per the provisions of Consumer Protection Act, 1986.

3.  ‘ThIhl AW WIS hl Th TR hl Yol STETIRdl Sl IHIfId Ll & |
ITTh A h HeH H YHTFId YSfl % TR 1 Ig=THT | 1

‘Technological Upgradation’ affects one of the types of capital

requirement of an organisation. Identify the type of capital affected with
reference to the above statement.

4. 39 ufwewr 6K fofa w1 am sase S aftyg e e (Ae) wRiwal %
AWEeM § M &Ll 3 | 1

YT
GUYU hl I IGT o YR ohl ATH FdSU ST Gew <hl Ireal e fo=my #
Thiten o feanifer it Ufshan § 319 a1t THETSTT 3T Tehidel ol Hefid shidl
2 1
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Name the method of training in which the trainee works under the
guidance of a master worker.

OR

Name the type of barrier of communication which refers to problems and
obstructions in the process of encoding and decoding of message into
words or impressions.

5. ‘Targ o fUgral W Y&y hl qeniehl H ITdWE Shifg |
Jrera

Ty e’ Td Tid e | e hifvw |
Distinguish between ‘Principles of Management’ and ‘Techniques of
Management’.

OR

Distinguish between ‘Time study’ and ‘Motion study’.

6. ‘EferT w1 R AN 7 ?
HAAAT
T sT@er § 1 AT 7 ?
What is meant by ‘Labelling’ ?

OR
What is meant by ‘Channels of Distribution’ ?

7. TS Iid faifaes dier wmsfera 1 FHior = # g off | soen Sewela v
gfd a9 fasha § gfg ik TR W oAl BT A7 | THeh TOIT 8 FIAARRET hl
o Hifa 1 fovervor o | 3o 38 3evd 1 wiftd & foTw 389 g Hiex
TTsfeohet 1 @G W T 3,000 i T AT T SHT T A b1 01T foram |
36 e MR gu 3R sk H afg 8 |
TS 37t fefide gru 19T U ASHT & TR I 8= |
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Raj Auto Ltd. was engaged in manufacturing motor cycles. Its long term
objective was to capture the market by increasing sales every year. For
this it analysed the pricing policy of the competitors. To achive this
objective it decided to offer a discount of ¥ 3,000 and free insurance on
purchase of every motor cycle. This attracted the customers and the sales
increased.

Identify the type of plan being followed by Raj Auto Ltd.

8. U9 M e foF= s=hiehim o ST-3TaT faumn o m d 2 | U feq st
% WIS & gu fon 9 U9 @ w1 fh Ul & R e e f wea @
S B aTeft 2 |
TS q T o Hey g U0 < TR 1 AW sy | 1

Raj and Riya are working in different departments of Leo Infocom. One
day at lunch time Riya told Raj that due to recession many people are
going to be retrenched soon from the organisation.

Name the type of communication that took place between Raj and Riya.

Qus d
SECTION B

9. I gEHH W R § wfaufadi v Hmdr Hoare woAwdr 7 1IN
Yarhieh, IR H1 Hiwdl # fGH-ufafe & Iar-=ed i guiar @ 3R gfayiaal =
TR S8R & ATICUE o ®9 H S[ET 91T 2 |

TR HAT h TR H IFW AR oh fohrgl M 1T ol IgT hIT | 3
AYAT

gfayfd TR & TaEy 3R Fgnted fowhra & forw wa fawmenl & @wamr 2q
Y wfayfa wa fafm o 6t zeme 6 18 |

SUYTh Y o T H AT Tfayfd o fofmg o€ o fopeal i i s
1 3gT I | 3
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Stock index measures the movement of prices of securities at a stock
exchange. Stock index reflects the day-to-day fluctuations in stock prices
and are known as barometers of market behaviour of securities.

In the light of this statement, state any three functions of stock exchange.

OR

To promote orderly and healthy growth of securities market and

protection of investors, Securities and Exchange Board of India was set
up.
In the light of the given statement, state any three regulatory functions

of the Securities and Exchange Board of India.

10. e < Tl 9 dimmst = 3g@ s |
HAAAT
TS o HEw o (hral (O [9gaTl I Ig@ T |
State any three limitations of Planning.

OR

State any three points of importance of Organising.

11. T, S Th HUIA1 I 2366 8, 7 U Th I h@H hl SR qTA 6l
ST ek AT Rgeii s9H 6 AeHr 5918 | I8 Fofa foren o6 @8 fafmior
3hTs TTHIOT &1 T TfUa bl STt arfes TImefior & | 1@ ot & bl ikl
e 7 Tk | 38 T 399 3@, i, oar iR fifas 1 s foshl,
@, T TF YER fIum & ygEi & &9 # weE fen | 3 fosm 9, afed
gigam i feamsfim & wHems o |

fafia favmt & yg@l 1 ==F S % v 796 g e gk § fag
T 9T I fF =N T 3w I |
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Mayank, the director of a company, is planning to manufacture stuffed
toys for utilising waste material of one of his garments factories. He
decided that this manufacturing unit will be set up in a rural area, so
that people living in rural areas can have job opportunities. For this he
selected Arbaaz, Kriti, Lata and Ritik as heads of Sales, Accounts,
Purchase and Production departments respectively. They were differently
abled but intelligent and creative persons in designing.

State the next three steps Mayank has to follow in the staffing process

after selecting heads of different departments.

12. ‘@ % HEA o foheal oA forgal ol dweisy | 3

Explain any three points of importance of ‘delegation’.

13. TEFAT A fAfiee YrRd d 3799 999 § 38Td 1 Ic9Ted o @l 2 | I8 39
SEATA o1 Sl g3 AT hl AW 331 T & ik ¥ h1 A0 forehE S 8%
T B | TG g3 AT I BEG I8M h [T T T AT TIA Bl G H
AT 18 | Ig IEE RN T TR AU wEE ol @H % fofu @

T 4,000 HUS T 3T AT & [T AT T 600 HUS <l ATIYIHAT BT |
STTh hIY I T B b QT Hidi a1 3TN foharm e e fafira @i
T fopd U T Uehd foham we I femmofia o | 3

(%) 3T afvla foemofia stagmon i ygaTi-e ta saet 31 S |

(@) UH fopdl Q@ SR *I TUAEY S HET A ITYE (F) H TR TR
ST oh! THTferd hid 2 |

Sunflag Iron Ltd. is manufacturing steel at its plant in India. It is
enjoying increased demand for its steel as economic growth of the country
is about 8%. It is planning to set up a new plant to avail the benefits of
increased demand. It is estimated that it will require about ¥ 4,000 crore
for setting up of plant and about ¥ 600 crore for other expenses to start
the new plant.

To collect the above mentioned funds, the sources to be used and the
quantity to be collected from different sources had to be considered.

(a)  Identify the above discussed concept and give its meaning.

(b) Explain any two factors that affect the concept identified in
(a) above.

7 P.T.O.
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SECTION C

14, o IR d fospa & fow g&a@’ don Soiaeie TR |esi-e e’
&1 doft o U ftae <t fafert & &9 § avie i |
ST
ST yETO- qen ‘Fiertsaes ol W ggT ST9R % Y9 & &9 H 9uiH HifT |

Describe ‘Offer for Sale’ and ‘e-IPOs’ as methods of new issues in Primary

market.

OR
Describe ‘Certificate of Deposit’ and ‘Commercial Bill’ as money market
instruments.

15. ‘THEdE ¢d fafiee’ wh dad TorEl g, S HHIEH o YR W gAR [Che Ioh

U B | TG A2 o TRV HIS H UTgehi i Tdehe foaia i ¥ waasd g™

+ 3 for o B | fUBe U A § 3Heh AR H hThl HHl S B Hifh

TRt IUMIHT 3 daet Toret Bran ¢d wog dgem’ I AR =« MU F, S

Y =0 H $eE g fehe § &l B |

(%) ‘wwdw gd foftes’ g e yateRy % o e it emeEt Hi
ST & R 3HRT AW SN qen 38 THeEEy |

(@) 3IWH (F) U Y89 T AW & AfIGh HAa@res el o fohet
I AT ! THATST |

‘Express Tours Ltd.’ is a travel agency which books air tickets on
commission basis. It takes two days for Express Tours to get the tickets
from airport reservation counter and deliver the same to customers.
During the last one year, there has been drastic decrease in its business
as most of the customers have shifted to another travel agency, ‘Shiva
Tours and Travels’, which provides tickets within half-an-hour through
internet.

(a) Name and explain the dimension of business environment that is
being overlooked by ‘Express Tours Ltd.’.

(b) Explain another dimension of business environment other than
that identified in (a) above.

66/1/2] 8
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16. Af9d 4 Fod WG YA s @ T 3,000 H T S THRE HAIH
T | 39 T fob i S e T8 W @ ft | B2 feeed v wosft
HIod TR Tgde fafies gra g S & foam | 4
(%) 3IH IUURAT ATTHR hH Uga™ hifvT &1 IgEH Hiolad A T1gae
fafies gra v o |
(@) 39 9P B & GG ST @l ATaa 391 R g1 U Fehdl
7 |
(M) e 98 IUYH BRE % W ¥ T T B, @ w1 98 ghw we #
A L Tehel & 2 AU 3T o U T HRUT ST |

Anchal purchased a food processing machine for ¥ 3,000 from ‘Kajal

Machinery Pvt. Ltd.” She found that the machine was not working
properly. Despite many complaints, the defect was not rectified by Kajal
Machinery Pvt. Ltd.

(a)  Identify the consumer right that has been violated by Kajal
Machinery Pvt. Ltd.

(b)  Suggest the appropriate forum where Anchal can file her
complaint.

(c) Can she appeal to the Supreme Court if she is not satisfied with
the order of the appropriate forum ? Give reason in support of your
answer.

17.  “foque’ o “faspa’ # = ey W 3r=avg $ife

%) TIHcT SATYHR FEATALT SHH TTEehi hi STETTRATHT hl HJe

@) foRameTl w1 IRy Ta oFd

M) HEE § I

¥) M § 3@ 4
T

foqum &1 Icuted @y Td Toshy S@umen ® T4 STumi WoTavg

SHifere

ared

ge F-fog

e

gyt

(
(
(
(

4

3

S~ —

(
(
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S
Differentiate between ‘Marketing’ and ‘Selling’ on the following basis :
(a)  Transfer of title vs. Satisfying customer needs
(b)  Start and End of the activities
(c) Difference in the Emphasis
(d)  Difference in the Strategies
OR
Differentiate between ‘Production concept’ and ‘Selling concept’ of
marketing on the basis of :
(a) Meaning
(b)  Main focus
(c) Means

(d) Ends

18. ‘mTgh! IMeMiaTsed fafies’ sr fmiar wrufaat & forw e1far urdm & famior &
@ 2 | I8 T I 9@ arelt B B | 19 I8 9 3R A 6 frew ek
AU FEHE H AR HET AEdl 8 | 3k [T 3H CrEehlicieh fo el
JMETIHAT 8 | HIA & ford Jarereh, o791, 9 HIOHT & G&I HRIBR iy
I THAT A b T g Y JeH K TArg & | 59 forw Teniyen i
NG <l STMEYThal g | Fiiea @FTa < =41 &l QU & o T gt 3 Hqgl
SR 1 g o |
(%) g 99K % 39 Y9 &1 99 dfore & st ffea amma s o e

o U 39 ot gl B |

(@) Hg1 99N UE Gofl TR 4 gl i STeml o st=avg Iy |

‘MICO Automobiles Ltd.” is engaged in manufacturing of auto parts for
car manufacturing companies. The company enjoys good
creditworthiness. It now wants to expand its business by investing in new
plant and machinery. For this it requires long terms finance. Arsh, the
Finance Manager of the company advised the CEO of the company to
raise funds by issuing equity shares. It requires huge floatation cost. To
meet the expenses of floatation cost the company decided to tap the
money market.

(a) Name the money market instrument the company can use for
meeting the floatation cost.

(b)  Differentiate between ‘money market’ and ‘capital market’ on any
three basis.

66/1/2] 10
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19. ‘THT hitehed Urzde fifiee’ & yarg oo 3 g+t fawrfia geruel & @19
93 i | Jorg figees 7 wal b aaHE SR 1 A Es HH b Al
35 wfosy # R Al e 1 fafg w1 o wam o971 8 Fifch hrat
3o foem™ 3eTg Uik § U 3R 3cAIE SIS o1 @i 8 | 39 3ewd hi I o
e 3o+ wvft favrfie sH@t @ gema smba o | sey fgers 9 Jea germEi

& SMYR W Teh I qIR 61 | Tt fowrier ysegest 3 Fiemn =1 9o fomam | 4
(%) 3wk wog § wehid Aqca <l et 1 ggeH HIC qun geeh o7
3T |

(@) Jqcd 1 = a1 Sferdt 1 wHE |

The Managing Director of ‘Verma Chemicals Pvt. Ltd.” held a meeting of
all the departmental managers. In the meeting, the managing director
said that besides doing their current work efficiently, they also had to
make themselves capable of shouldering more responsibility in future as
the company is going to add an additional product to its existing product
line. For the realisation of this objective he invited suggestions from all
departmental heads. The Managing Director proposed a plan on the basis
of the suggestions received. All the departmental heads carried out the
plan.

(a)  Identify and give the meaning of the style of leadership referred in
the above para.
(b)  Explain the other two styles of leadership.
Qug g
SECTION D

20. “ffeht feafiies’ o Ioeh HHAR hl TSR hl Il o IR Ufdfed 10 HIl
i w1 o1 | B FHATE B BgR @i 4 - 6 B w1 Fmio gfdfe
fopar, oyft =it 3 Hidd A& = gred fohan | =il & sl

e & fore geeem 3 @@ # @ AL e ot o 5

(%) 3T ° i Jeruh S 6 UgaH ST |

(@) 3w (%) ° ugaW fobu T yergh™ wE il UfshAr % =N Wl
HHATRY |

11 P.T.O.
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Each employee of ‘Bhoomika Ltd.” should manufacture 10 tables per day
as per the terms of employment. All the employees met the said target
except a few who manufactured between 4 — 6 tables per day. The
management look a decision to install Closed Circuit Television (CCTV’s)
in the factory for monitoring the activities of the employees.

(a)  Identify the managerial function discussed above.

(b)  Explain the steps in the process of the function identified in (a)

above.
21. fT=fafea feafaat 4 fouuaesal gra S it S ot fassa gada denient
! TEFH Hd §Y IAHT 3gW@ hINT | Ix5=5

(%) T 20,000 I T W T 5,000 HT GFI FTHT Toh |

(@) U HieT @Efhat & T W T 1,60,000 1 JIAH, T 40,000 T a
Y TRT 1 PAE T 6,000 T3 il 20 T0H fohedi 7 |

() T8 % @A i foferan & 30 um <fafce A |

(") TH WA HEEd B % @F 4 GB AU H1E IHd |

(¥) 3fveam 3rfaet HIRIA & Ui 991 ¥ T 2,500 % YA o Ha T HR I
Th! T %9 |

Identify and state the techniques of sales promotion used by the

marketer in the following cases :

(a) A free holiday package of ¥ 5,000 on purchase of goods worth
T 20,000.

(b) Payment of ¥ 1,60,000 for the purchase of a bike can be made,
T 40,000 immediately and balance in 20 equal instalments of
T 6000 each.

(c) 30 grams extra soap in a cake of bathing soap.

(d)  Get 4 GB memory card free with a ‘Popo’ mobile phone.
(e) Lucky draw coupon for a car on purchase of petrol ¥ 2,500 from

Indian Oil Corporation petrol pumps.

66/1/2] 12
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22. SATEEIIH TATGRU o HE o [ohral e (oGl 1 3g@ hHiT | 5
HAYAT
ey <l Tohrgl gt fomarett <1 3g@ $ifvu | 5
State any five points of importance of business environment.
OR

State any five characteristics of management.

Tug g
SECTION E

23. TIE, IR TS | IUTEA84 o €9 § % L @ 2 | 98 Th g¥s adl
fafirse ot e 7, fed ama gedi & fafte vgel § | 39 &1 @ed &
g fehe ¥ g1 g7 B FiTeh T A1 Ug FUia o 99aTd, 39 9a1 W H HH
% fau safrat it Tavaehar g1t B | 36 HE HI Y§Y * Teh AT B
®9 H <@ AT 8 | T9 98 AU oAl I Feed il 8, SHeh! YHeh oIt
Hiferd g1 St 2 | 6

(%) o fafies & Iueer & &9 A A g e & & ugem
I o 3TehT 379 FHATST |

(@) ure grr fwfed %1 & @eT b 9gd @ o B 7 | W@ R uie
A1 BT IgE iU |

Mohan is working as a vice-president in Ashoka Ltd. He performs a

separate and specialised function having many aspects of human
relations. His job is closely linked with organising since after the
structure and positions have been decided, people are required to work in
these positions. His function is seen as a generic function of management.

When he performs his duties, his role is slightly limited.

(a)  Identify and explain the meaning of the function being performed
by Mohan as the vice-president of Ashoka Ltd.

(b) The function performed by Mohan benefits the organisation in
many ways. State any five such benefits.

13 P.T.O.
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24. HIA qAT SR, A1 4 Y& T T AATYh ANEH & 8 S Y«eehi & o
AT HR HH T MMYR &9 T 8 | o’ ol Graqr o7 fob &R 1 a5
foeciwor =1 @, 38 FE BT TH I8 w1 ga1 AET GHI B | SH, SHeh
HAY dAT T TSI U9 HRIcHeh BRAANRIT o hRUI Tk I1e TehaT ST
2 1 35 e fob, e ufufea qen S yey qen @Al W@ deavedqicnes
FHRIEA & TET TR U 53 gRomg gred B | $ATA 3 THSRT T U geeeh
! AT H KT FMEY 9AT 39 HE bl i o [0C foha =i =1 I e
=TT |
ITE U W SR W e AT HBATA & IreE H e g W etavig
EAlE L

(%) ufgex

(@) TG <hl Tehell
() g (BIRH)
(=) arfvreafe

(§) SIS

(F) T kT 3TMUR

Fayol and Taylor both have contributed immensely to the knowledge of
management, which has become a basis for further practice by managers.
Taylor thought that by scientifically analysing work it would be possible
to find ‘one best way’ to do it. He is most remembered for his time and
motion studies and functional foremanship. He said that the best result
would come from the partnership between a trained and qualified
management and a cooperative and innovative workforce. Fayol
explained what amounts to a manager’s work and what principles should
be followed in doing this work.

In the light of the above discussion, differentiate between the
contribution of Taylor and Fayol on the following basis :

(a)  Perspective

(b)  Unity of command
(c) Focus

(d)  Expression

(e)  Applicability

) Basis of formation

66/1/2] 14
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25. TIaE 6 forgl = Him1sT sl g9=msT |
AuaT

TS % TS A h G o [ohral AR (oGl hl THLATIY |

Explain any four limitations of planning.
OR

Explain any four points of importance of organising function of
management.
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